Scitani a odditani zapornych disel

Vypocitejte:

(@ 4+(C1 ® 6+(=3)
(© 3+(=2) @ 7+(4
() 2+(=5) ( 3+(=3)
(9 4+(6) () 1+(-4)

Scitani a odcitani zapornych disel

Vypoditejte:

(@) —4+7 (b) =245
(c) —4+4 (d) -3+6
(e) =542 (fh =-5+1
(g —4+1 (h)y —6+5

Vypocitejte:
(@ 2-5 (by 3-—4
(c) 1-6 (d 1-5

(e) —-1-3 f) —4-3
(9) —-2-—2 (hy —-6-1

Vypocitejte:

(@ 4+(C1 ) 6+(=3)
(o 3+(=2) @ 7+(4
(&) 2+(=5) (O 3+(=3)
(9 4+(=6) () 1+(-4)

Vypocitejte:

(@ 2-(-4) ® 1-(-2)
(9 5-(C1D @ 3-(=3)
() =3-(=5® -1-(-4)
(9 —6—-(=2) (h)y —=5-(=2)

Vypocitejte:

(@) —4+7 (b) =245
(c —-4+4 (d -3+6
(e) —=5+2 (fh =5+1
(9 —-4+1 (hy —6+5

Vypocitejte:
(a) 2—5 (b) 3—4
(c) 1-6 (d) 1-5

(e) —-1-3 f) —4-3
(9) —-2-2 (hy —-6-1

Vypocitejte:

(@ 2-(4) ® 1-(=2)
(o 5=(C1D @ 3-(=3)
() =3-=(=5¢® -1-(4
(99 —6—-(=2) (h)y —=5-(=2)

Vypoditejte:

@) 2—-74+(-3)
(b) —=3+11-(—4)
(c) 2+4+4-9

Doplnte chybéjici Cislo:
(d) —-4+0=-9
() O-(-6)=10
) 2-5+0=-7

Vypocitejte:

@) 2—-74+(-3)
(b) —-3+11-(—4)
() 2+4+4-9

Doplnte chybéjici Cislo:
(d) —-4+0=-9
(9 O-(-6)=10
() 2-5+0=-7




